
 

 

 

 

 

 

 

 

Tractive recommendations: Spring preload  :10 mm 
    Rebound damping : 12 clicks 
    
    This set-up is for riders 65 – 75kg 
    Rider from 75 – 90 use 1 step harder spring 
    Rebound damping :10 clicks 
 
 
 
 
 

 
 
Read more about how to set up the vehicle and how to adjust the adjusters correctly 
in the Tractive Owner’s manual. 
 
 
 
 

 

 

 

Model  : YAMAHA MT-07 (FZ-07) 2014- 
 
Contents  :Part no.   Pcs. 
   :46YA14-R3116-TR  1 
   :90100001   1 
   :Tractive sticker  2 
   :Owner’s manual  1 
   :Hex.bolt M10x60  1 
   :Nut lock M10  1 
   :Washer 10.5 x30x2.5 2 
   :Washer M10  2    
 

 
 
Before installing this product, check the contents of the kit listed above. If anything is 
missing, please contact your Tractive dealer. 

 

Before installing this product, read the Tractive Owner’s manual! 
 

 

 

 

Mounting Instructions  SET-UP DATA 



 

  

 

 

HOW TO INSTALL 

 

1) Put the motorcycle on a workstand so that the rear wheel is of the 

ground. 

 

Make sure the vehicle is secured so it will not tip 

2) Remove the chain and mounting fork cover 

 

3) Remove the shock absorber bolts and take the shock out.    

 

4) Mount the TT-Tractive shock with the rebound adjuster on the left 

(chain) side of the bike 

 

 

5) Use the delivered longer bolt.  

 

6) Order – bolt – washer M10- mounting fork – washers inside – 

washer – locknut to mount the lower end of the shock. 

 

 

 

 

 

 

 


